180 1

W

Thinking Science

=

*

1

- s 11

=
—

b, 120-750 AI=SE Al AT

11
20
or

ol

2149 HEO0|

1T

Thinking Science

Qo = ojs

KD

il
wl

ol

=2 193Z0IA2MH, Ol

2 60 &t

A4

b

aotet 8

=0l

ol
S

E
E

ol
E

1

oI

—_

E

ol
E

1

—_

aJ

KD

=
o

[m]

—_

oJ

i0J

£

Thinking Science

11

1t Thinking Science

=]

Ol SRTHI2H TOSRAE Ol

1T

AlGHACE.

<

—_

oJ
&D
<+

= © G

=
=

PSP

ot ALH.

SH
=

X
()

s

X

Al

ol
=]

ok

ol
ﬂ

=

ot ALt

_‘

xr
[

off et

B
&

=)
X

P

S
0

ol

KD

ol
30

L

Ol A

b

(=
=

erx &

dE0 OE

Sl =RtCH

I £90|

Ol SH &0l Blgl

8 e

i

o)

o

3o Mg

A +==Z0A =

KK

|
[=]

IAOLE, AFE
teroll O

(el Xe]
L

LIEHLH X
AT &= Ol 2 &

=
=

A+l

0

0

ALt A

o O
= 7T

[_C}.
Ct.

= c X
- T 9

AtE TOSRA 2 BHOil Al

AOlA = =20l

=

[

al

A0

0

st

A2 R0l
© 2 Thinking Science

ol
0l
KD

|.

e

LHOI A

i
<

oJ

o]
Ul

ol

)
ior

Ssin

o
2 J

ZT2

E=SHA
[l =T

uln

ol

8

sy
—/

= Foid= 21Xl It

A
(=]

|.

00

H

0

ol
=

=

-+

on

ol

ol

ol
Rr
E

9]
od
A

040
Rr

T2, 0l

K 0{: Thinking Science

=
e



